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Note : (i) Graph Paper will be available on request
(ii} Figures to right indicate marks.

Q1(a) State the rules of differentiation. 5
(b} Find derivative of 'y’ with respect to* x' ; }% 5
(i)  y=3C~-4x+x-9 (i) y=log (5x*+3x-6)
(© ify= l—%-cg-f then show that d’y/dx* = (2log x-3)/ x* 5
OR
Q1(a) Using definition of differentiation, find derivative of f(x) = 1/x 5
(b) Find maximum and minimum values of the following function 5
f(x) = x*- 12x* 144x +10
(¢} Find derivative of ‘v with respect to’x’ ; % >
()  y=e"5*%° (i) y=3t and x= 3/t

Q2 (a) (i) Evaluate : oP, x ¢P3 (i} Find value of ‘n’ if ,P,=30[,P,] 5

(b) Out of letters of the word “TRIANGLE” how many 5 letters can be made 5
such that ‘
()  word start with AN (i} vowels are in odd Places.

{c) Inagroup there are of 4 girls and 6 boys. In how many ways a 5
committee of 5 members can be formed such that there are
) at least 3 girls in the commiittee
(i)  at most 3 boys in the committee

OR
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Q2 (a)

(b)

(c)

Q3(a)

{c)

Q3 (a)

(b)

Q.4 (a)

(i) Evaluate : 1Cy + gC3 + G,
(iij  Findvalue of ‘n’ if ,,Cs: Co= 44:3

From the digit 4, 5,6, 7,8and 9

(i)How many numbers of 4 digits can be formed?
(if) How many of them are odd numbers?
(iii)How many of them are greater than 70007

A cricket team of 11 is to be formed from 16 players which include 4
bowlers and 2 wicket keepers. In how many different ways a team can
be formed so that the team contains at least 3 bowlers and 1 wicket
keeper?

Prove that equation of line passing through point (x4, x;} and having
slopemis y-y. = m(x-xy)

Find the value of 'k’ if
(iy lines2x+ky = 7and 3x-4y = 10 are parallel
(i) 4x+ky -7= 0 hasslope 3.

Find equation of line passes through point of intersection of
x-3y+8=0 and 4x+y-7 =0 and which is perpendicular to line
2X+y+5 =0

OR
Find i’ if the distance between Ak, 4)and B(-8,2 }is 10.

Find the area of & ABC having vertices A{-3, 2), B(1,-2)and C(5, 6}.

Find equation of line passing through point (5, 7) and making equal
intercept on axes.

Define following terms
(i)  Constraints
(i)  Solution
(iii)  Objective function
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(b) Solve the following LPP by graphical method
Maximize Z = 5x+ 2y
Subjectto 2x+ 3y < 150

3x £ 150

5y < 200

X, y20

(c)  Solve given minimal assignment problem
I'_ ) J; J3 s
M, 5 13 12 3
M, 12 3 11 0
M; |5 16 8 7
M, 16 8 15 12
OR

Q4 (a) Using graphical method solve given LPP

Maximize Z =4x + 3y
Subject to 2x +y < 1000
X +y <800
X< 400
y <700
X,y20
(b}  Solve given minimal assignment problem

Lo, Js i Is
M, |8 [a 2 6 1
M, |0 9 5 5 4
M; |3 8 9 2 6
M, |4 3 1 0 3
My |9 5 8 9 5

(c} Give assumptions and limitations of Linear Programming Problem.

**s**)(*****

Page 3 of 3




S



"y 2 P il

[ } ,l’é SEAT No._;_,m—n; ; No of Prmted Pages 3

Gro
J SARDAR PATEL UNIVERSITY

BCOM SEMESTER It EXAMINATION 2019
SUBJECT: BUSINESS MATHEMATICS I
SUBJECT CODE; UB02CCOMO4
DATE:28/03/2014 ,’Ihnggm TIME: 10 AM TO 12 NOON

o1l dRH

(1 (a) Bsatd Rusl galal. 5
h) & el

dx

(i) y:3x3~4x2+x—9
(i) v = log(5x™+3x-8)

(€} o) y= 1—‘1& &l dl el 5203 diy/dd = (2log ><-3)/‘x3 &

Yl
Q1 (a) cwurdueedl f{x)=1/x4 fsan s 5
(b) fix) = x*- 12x’;‘- 144 + 10 ~(L 2y 2t 2t Bt wlal, 5
(c) d" alal 5

(i) y=e' 5" X
(i) y=3twd x= 3/t

02 (@) (i) Budasl:gPy x 6P 2
(i) %l Ps=30[ P2l el dl “n” L Bxd alal

(b} “TRIANGALE” 216e-il el 5 vl ongagll dedl dd ud gy el 5
) aes ANdlazal |
(i) RaR) 280 21

~

[

(c) wsleMl 4 L5l w6 wisARE 5 uexl-ll MR deel Aed oerdl

as BNl
G 2loml vl e wisdall @,111
() ayniay ~e elsuel gl
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Q2(a) ) Buduldl: 5o + 4Cs + G
© (i) % 9nCaiaCo = 443 8l dl “n” L [Bud wlal

(b) ™ 4,5,6,7,8 w493l :
iy Feel 4 vi8l v el nsa?
() Fedl w18l dvar Q7
(i) 3eel2ivaL 7000 ¥l 48 4?

(c} s Bz il 16 vlewdldl 8, 3wl 4 ol v 2 Qe sur 9. duidl

-

11vardlat-Al 214 fedl Ad ad ad Fdl Ml el 2l 3 alaz i 28

[i2 slur glu?

Q3(a) welld 570 & ellgail (xy, x,) Hieh v ddl 217 g1 m awll Jvug wdflsa v -
oy E m{x-x) 8.
(b) Al K+l [E+a iyl
(i) 2wl 2x+ky = 7w 3x-4y = 10 yuldr ¢ly
(i) 4x+ky -7=0 lawr 3ely

(c) & il x-3y+8=0 dx+y-7 =0 il de-t oflguidl uar adl,
2x+y+5 =0 david wiflsn winl,

wRd)
Q3(a) ool oflgail Ak, -4) 24 B (-8, 2) a2l vid 10 ¢lu ol K wll8l,
(b) %l Busler ABC 1 aleflg s A (-3, 2, B(L,-2) L C (5, 6) 8l ol
dsf dstga algl,
() gl uR UMt 2 v8L 1wl @i (5, 7) oflgiell wruz adl g wllsw
qqql,
Q4f(a) owsaisuml:
(i) ulsis)
(i) G3a

(ifi) - gad Ady
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(b) 2uduirl wpeel Al w3u wualo 4 usl 63l

Z = 5x+2y o ofldel) 22dlal w1Llot HETH oI,
2x+3y < 150

Ix <150

S5y<200 x,y=0

e} r{lnivtl_‘qé%tg[l M H12 Y-t B3 And)

14 L ik Iy

M, |5 13 12 |3

M, |12 |3 11 |0

M: |5 16 8 7

M, |16 |8 15 |12
Al

Q4(a) wau-lweedl {ldqa yu 2udleq [l us Gial
Z = 4x+3y o ofldell 212dlal A1ENot HETIH Gloll,
2x+y < 1000
x+y < 800
x < 400
y< 700 x,y=0

(b) -l adayell e W2 Yridy Gia Ao

K
w

o
=

—
w1

Lo
M, |8 4 2 6 1
M, |0 9 5 5 4
M; |3 g 9 2 6
M, |4 3 1 |0 3
M; |9 |5 18 9 5

(c) AL 2ualae usi (LPP )l el w salelall oeuel.
wn?{mmw
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